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(1) V = R4’ F(I(l’ 1’ 19 1)) = t(l’ O’ 190)’ F(t(lv 1’ _1’ _1)) = t(l’ 1’ O’ 0)
(2) V=R* F((1,0,0,1)) =" (1,-1,1,-1)

B) V=Rxlh, Fx+2x) =x+ x5 Fl+x+x)=1-x+x°

4) CR),000 fO0O000 F(fx) = f(1 = x)
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(1) V=C,W=(1,1,1,0),(1,2,0,0))

(2) V = C3’ W = <(1’ Oa 1)7(1’ _27 0)>
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(1) S(C)» apy2 = 2an+1 —ap
(2) s(C), ansa = 4ans1 + Say,

B-3-2.[00]
a,0 @py = 2a,, -3¢, 0000000000000000b, =a,,a,000000000
000

B-3-3.[0000000000]
0000000000000 000000000o0ooooooog



B-34.(0000000000]
00[0,22]00000F0) = fer)00000000000000000000 ¢SHoOo
0000 CcsHOOo0000o000o0oooon
0D000000000000000000000000000000000

B-3-5.(00000000000]
WcviDOOOOODO000OvoDoOooooo0o0000000000dim(W) < dim(V)
0000000000000dimW)=dm(V)0OOW=vO0O0O0O0OO0O0000
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2 3 1
a)V:@,mz{vewh 11}:0}x@:@evw10 Qv:q
(2) V=R[x], Vi ={f(x) € VIf'(x) = f(0)}, Vo ={f(x) € V|f'(x) =0}
(3) V=0C3 v, =((1,2,-1),0,1, 1)), V, = ((1,1,-2))
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15 =21 0 1 1 -1
(H) V=CV, =veV y=0%, V,={veV| y=0
01 0 1 -1 -4 3 =2

Q) V=ClxhVi=U+x+x1—x+x*), Vo =1+ x+x%)

B)V=Clxls, Vi=0+x,x+x>), Vo =1+ x, x + x%)
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1. dim(C*)=4000.

2.CP=WeRDDODC’0000OO0OWOOO x,x,000000.

C-3-1.[0000]
000000000000V ->wODOD0OO0O00OO0O00o0o0o0o

() f:Rxls > CLFA+x+x*+x°)=(1,0,0,0), F(1 + x*) = (0,0,0, 1)
(2) f: C(R) D (sin(x),cos(x)y =V — V, F(sin(x) + cos(x)) = sin(x — g)
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V=Rx:0000v =1l4+x+x%v=x—x",v3=1l+x—x}, vy =x+2x°+x°0000f: Vo>V
000000000W =,vw)y0000fFw) =1+ab+(1+b+ab)x+(1+ab)x*>—bx’, f(v,) =
a+(l+ax+ax’-x*00000WO f000000000D000O0O0
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